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This Question Paper consists of 34 questions and 8 printed pages.
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General Instructions :

1.
2.
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Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as(those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 52/AS/4-C on the Answer-Book.
(@) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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ECONOMICS
(214)
Time : 3 Hours | [ Maximum Marks : 100
9T : 3 90 ] [ quiiek : 100
Instructions : (1)  All questions are compulsory.

(2) Marks allotted to each question are indicated against it.

(3) Each question from Q. Nos. 1 to 8 has four alternatives (A), (B), (C) and (D)
and out of which one is the most appropriate. Select the correct answer
and write it in your answer-book against the number of question.

frder (1)  Teft 7o et ¥
(2) TH YT o 3Tk 3Tk WEA I T F |
(3) TS U HHAG 1 H 8 T, TA® YT § AR dshfcdsh K (A), (B), ()
3R (D) feu T € o & U T = gaifuss sfad §1 9@ SO AT qen et
SW-YRenT § 3§ T9F hdish o 9 fafaw |

1.  Problem of ‘growth of resources’ is faced by : 1
(A) All economies
(B) Only developing economies
(C) Only mixed economies

(D) Only socialist economies

"EHeE Y Hafg i HEEET i HHAT ST ST §
(A) |t srefeTerEat &l |

(B) <haa Toerreiicl stefeaeenaii <l |

(C) ot Thfya sreferaensti i

(D) e GHISENE] SAeferereesli ! |
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2.  Tendency of data to cluster towards the central location or value is called : 1
(A) An average
(B) Arithmetic mean
(C) Central tendency
(D) None of the above

3TMHSI hl Heald T A1 o hi 31K THA e St Ygf FHeard ¢ :

3.  Consumer awareness includes : 1
(A) The knowledge of the product by the consumer in terms of quality

(B) The education about various types of hazards and problems associated with
marketing of a product

(C) The knowledge about consumers’ rights and consumers’ responsibilities
(D) All of the above

YT el | wftfed §

(A) ST §RI GGl T8 o%] i T0rerdl & fore § SHeRrd

(B) TR I 9 & Heifer fafir=1 yenR & Siifem qen aoenedl & o o forem <
(C) UM o ATRR TUT 3Tk IS ] F
(

D) SWdx A+t

)
)

4.  Marginal revenue refers to : 1
(A) Revenue per unit of output sold.

(B) Increase in total revenue due to one unit increase in the sale of the quantity of
output.

(C) Total amount of the money received by the seller during the given time period.
(D) The price at which last unit of the goods is sold.

T 3T § e §

(A) o9 T IS 1 Y Sh1g HATTH |

(B) 7R i forshl ® T T i gfg ¥ Fl 3 | B arelt gig |

(C) T g afy ¥ fashdr g1 9 Fa T

(D) =% a8 R awg H A< s o= T |
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5.  The minimum number of shareholders in a private company is : 1
e it sheot § sTorenfiEi st =Ean e B ©
(A) 2 B) 7 © 10 (D) 20
6.  Token price means : 1

(A) maximum price of the commodity

(B) minimum price of the commodity

(C) a price which is much below even the per unit cost of production
(D) price fixed by the market

Hichfaeh Hod 1 319 T
(A) oIE] I ATYHAA hiAd
(B) O] i =T HIAA
(C) UE HIud STt Ul 3T ANTd ¥ Sigd FH 2l ©
(D) TSR gR1 fAifa shiwd

7.  Which one of the following is not a subject matter of Macroeconomics ? 1
(A) Determination of price of a commodity
(B) Problem of inflation
(C) Problem of unemployment
(D) Problem of economic growth

Frafafead § & o1 @1 T i stefeme &1 fawa & €2
(A) T I%] i HiAd 1 e
B) HgT ThIfd sl FHE

(
(C) SRUSATRY hl THE
(D) sTfeiek Hafg ol THE

8. Problem of “allocation of resources’ arises because : 1
(A) Human wants are unlimited
(B) Resources are scarce

(C) Resources can be put to alternative uses
(D) All of the above

‘1Al % SATee’ i TR I B T
(A) FHifR AT STaTIhad Sfhd ¥ |
(B) =Hiifer Tame Hifd €1
(
(

C) Hiifer HETHHA & 3T Ahfcush AN & Tehd T |
D) 39 |l % HROT|
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9. Give two examples of economic wants. 2

Tfefeh STETIHAIST & T SSTELU SIfSIT |

10. What is meant by ‘right to safety” of a consumer ? 2

‘SusiierT <t TR % SRR § A e ¥ 2

11. Define average product. 2
3T IerE <Rl TR <ifeTY |

12. What is meant by pollution ? 2
TGO & T Ay 2

13. What are factor incomes ? 2

Y 3 1 2l § 2

14. A seller of potatoes sold 20 kg. of potatoes in a day. His total revenue is I 220. Calculate 2
his average revenue.

e F Tk Toshen ¥ Tk e & 20 fo. 7. 371 1 okt fohan) S9eRt Fct ST 2220 %1 ST
3iTEd 3TTH i U1 HIfSC |

15. Suppose, you are a seller of some commodity.~ State the important factors which can 2
influence your decision in fixing the price of that commodity.

M wiifed, o forelt axg o foshdl € 139 He@qUl Rl 1 Ioor@ hifsd Sl 3§ & i
a1 fafvea w0 | smaes fofa. &1 ganfaa e gend €|

16. What is meant by ‘market’-in economics ? 2

A H R 9 A R 2

17. Define saving. 2
EESEIRECIEIIERT
18. How is arithmetic mean of a given data obtained ? 2

fed T3 STihel 1 TR A1 S Wi R Sian g 2

=)}
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19. Distinguish between goods and services. 4
g IR Haredi § 98 it |
20. How will you identify a mixed economy ? 4
T A steferasen &1 vea H9 w32

21. Explain the concept of capital intensive technology of production with the help of an 4
example.

Teh IR0 i TR T STTEH i YSit TTe qeheileh! hi STILROT HAET |

22. Explain the importance of international trade. 4
TR SR T Hed THSEU |
23. Explain the role of service sector in attracting funds from foreign countries. 4

forcell § Il Sl TR FLT § FaT &5k T fHeRT ! AT HIFIT |

24. What are the grounds for filling a complaint by a consumer ? 4

YT GRT TR g o & STHR T | 2

25. Explain the law of supply with the help of a supply schedule. 4

Tk MY ST it Teaar ¥ eufd o f2m it =amen Hifew |

26. Explain any two functions of money. 4
e & Tl © Rl i TSN it |
27. How does a bank create credit ? Explain with the help of a numerical example. 4

Sh UG T G HY HLAI 7 Ueh G&ATHS IS0 hi TRl ¥ Uy |

28. What are primary data ? Describe any two methods of collecting primary data. 4
e TR o1 210 € 72 WATHE 3Tkl & Gehod A i fhwal <1 faferii o1 aofa wifsm

N
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31.

32.

33.

34.
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Identify whether the following items are variables or attributes ? Give reasons in support
of your answer.

(i) Height of a student

(i) Beauty of a girl

(iii) Intelligence level of a boy

(iv) Weight of a person

qg9H Sitee for f=fafead ag = € s1een 9g ? o194 S & fod o s

(i) W fommef =1 %

i) TR ASH hl gl

(
(i) eh TTSoh ! TG T TR
(

Teh AT T Io T

iv)

The following are the marks secured by 70 students of 11t class in Economics. Calculate
arithmetic mean by using short cut method.
Marks : 0-20 | 20-40 [ 40-60 | 60-80 |80-100

20 21 10

No. of students : 8 11

el 11 H erefome § 70 faenffai gru i = o w3 €1 oy faf =1 e e g
HTE Y AT SHife |

3T - 0-20 | 20-40
IEEIRRIEIRSSTIR 8 11

40-60 | 60-80
20 21

80-100
10

Describe any two notable features of the Indian economy at the end of British rule.

FAUS o YT & 370 | HRA rfeTaee i for=dl &1 M e Iy foevdrsti =1 =i
R |

What is the role of the government in controlling prices in India ? Explain.

IR | HITdl 1 =0 FH GRR ot 9 i €2 gHes

Explain any two factors which may affect the individual demand for a commodity.

forelt ar%g ot AfRTT AT Sl YIfod T ot fR=l <1 el bl ST ST |

What is meant by “soil degradation” ? Explain the effects of soil degradation.

‘offr & frefreReor’ & s eifama €7 9t 3 fefieRtor 3 gl 6t e S|
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